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For indeed a pauper eats his bread without pounding

OVERVIEW

The X3 explains the reason wm> (pounding) is not listed as an 728%» 2R (even
though there was wn1> in the 1own to prepare the 1110), because a pauper eats his
bread without 7w°n3.! Our MooIN analyzes this answer.

n1voIN asks:
= 12YN01 MNT PINNT HYINI 2YNY [=)[rdA] 5919 9NN ON)

And if you will say; nevertheless (even though the poor are not wn>) the miwn

should list 3220 nwon> (pounding herbs) as an 715%%7 aX for it was in the Jown!
= NP NAIYN NINDN DIINND PPy NYWIND NI IND YIIN YT 2) DY 4N)

So even though the pauper eats his bread without 720> (so the 71wn cannot list
7w nd of wheat), nevertheless regarding the herbs (for dyeing) nw°n> is an
important 579897, so it should be listed as 13m0 nwna!

MO0IN answers:
= 2N XY DNNDA YAIN 2I3PT 1211 NIN NIN 1IN DIIN NPT INDT PHYY 13929 99IN)

And the >'"1 answered that when *>2X said 105 %218 "1y 10w, it was not precise, for
the same applies to dyeing; that an "1y dyes with 2512720 without 7wsn>.

nvoN asks:
- PP 902 399NTH NDIYA NP IND YIIN 5¥ 1Y 23NY XY 33 1991 YINN ON)

And if you will say; the 71wn should also not list 7% (sifting), for an "1y eats
his bread made from an 71992 170°Y as »2X states in the end of our pP=».

! The wealthy people pound the wheat kernels in order to remove the outer shell so they can have pure flour;
however the poor people are happy to grind the wheat as is. See 19w 7"7 *"w". Therefore since it is not that necessary
to have nw°n> (for bread), the mawn does not list it, since it is included in w7 (as opposed to 121 97121 777, which are
essential in the bread making process, so they are mentioned [even though they are similar to w7], since they were in
the 1own).

2 Therefore just as 7w°nd is not a 72 Wn 79871 by bread because the %1 is AW N> X292 1D 92, the same applies to
110 Nwn3 that it is not a 72WnN 79897, so therefore it is not listed (but it is included in w7 NoX%7%). See ‘Thinking it
over’ # 1.

3 2,w. An 7072 0°Y is bread made from a dough from which the bran has not been removed. The 7wn there stated
that to be 217 for IRX7 one must carry food the size of a N33 (dried fig), not counting the 1210 and 0 (different
types of bran). The X3 asked; why is it that regarding the 13w of flour required to separate 771, we do include the
7079 120. So **ar answered because an "1y is 70122 0¥ N2 Y. An 707922 oY by definition means it was not
sifted. The question is just as we do not list wn> because 7w°n3 X722 [2°3202 ¥21%/A00 9218] "1v, so too the mawn should
not list 7P, since an "1y is 77277 822 15 22 (for he eats an 710172 70W). See ‘Thinking it over’ # 2.
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N190IN answers:
- 1PN N3 PN PPN DY 2197 N9 Y

And one can say that most 221 do not their bread without 537297, therefore the
mawn lists Tpn as an 7oK X -
= SNAND ONDN 192199997 PP210N POIVNEN NN PIYIY NON

However regarding separating :12m, the 1°210 combine with the flour for the My w

of 17171, for we call this dough Y87 an®n -
= NDIYA NIV DIVIINY DY W )D

Since there are some 2% who eat an 17992 770°Y.
$ONYY 1392499 AYWINY XYY S9N 123ya ¥9°9 0N 1AM

And the n''9 explained it in another manner; however the °''9 was not satisfied
with the s'n"= explanation.

SUMMARY
o»1¥ do not perform 7w n3 either by bread or 11m70. Most o71v performed 77p77,
but a minority did not, which allows us to combine bran and flour for 751 MW,

THINKING IT OVER
1. Why did the X3 answer (why 7wn3 is not listed) 7w°n32 852 109 YK 1w 10w it
should have answered 7w N3 X2 0°1m1n02 Y2 "1y 19w; why mention bread at all?!®

2. mooin asks we should not list 7777 since an *1¥ eats an 770172 70°9.° Perhaps even
though he eats an 710192 170°¥, nevertheless he is 7% (not to remove the bran, but
rather) to remove any pebbles or other impurities which may have fallen into the
flour.'?

4 See 12101 "7 2,3 *"wA that 17210 refers to the outer shell of the wheat kernel which is removed through 7w n3.This
allows one to make fine flour (n710) since there are no P20. The 107 is the bran which remains in the sieve after
sifting the flour. It would seem that the 0>*1v did not perform 7w°n> so their four included the 1°210. However most
a1 sifted the flour afterwards to remove some of the bran (7071), but a minority, did not even sift their flour.
5> The a1 writes (0°,0 [[2w] 127m2) regarding 770 that YR onon 02082 M. We consider bread made from the
70172 170°Y to be PR OnY, since some O°°1¥ eat their bread in this manner.
6 See w"x71 MooIN (and *n W Naw).
7 See footnote # 2.
8 See x"av™.
% See footnote # 3.
10'See mamm M.
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